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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa Claus bought 6.25 pounds of candy canes
and 4.75 pounds of chocolates. How many pounds
of sweets did Santa buy in total?

Rudolph the reindeer ate 2.15 Ib of carrots and 1.86
Ib of apples. How much food did Rudolph eat in
total?

Mrs. Claus baked 7.35 |Ib of gingerbread cookies
and 2.65 Ib got eaten on Christmas Eve. How much
gingerbread cookies are left?

The Christmas tree was 3.25 yards tall. After the
star was added, it became 3.55 yards tall. How tall
is the star?

Santa's sleigh weighed 75.25 Ib. After loading the
gifts, it weighed 100.00 Ib. How much did the gifts
weigh?

The Christmas feast had a 4.85 |b turkey and a 3.15
Ib ham. How much did the meat for the feast weigh
in total?

The elves made 12.75 yards of garland for the
Christmas tree. They used 8.25 yards and had some
left. How much garland was left?

8 Santa drank 1.25 gallons of milk and Rudolph
drank 0.75 gallons. How much milk did they drink in

‘o’ral?
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